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Al e Al =
= | E dF = gold = e = E dEE gold = Eh
E Al 254,236,366 264,964,376 10,728,010 2 Al 254,236,366 264,964,376 10,728,010
galtfgss | dAH24 44,121,000 44,121,000 0 A2 HI il ] 159,674,920 162,391,880 2,716,960
Bx3=¢ BXzs¢ 167,267,420 171,863,880 4,596,460 A H &R =8 1,398,000 1,260,000 -138,000
s=z+¢ SaS+Y 15,189,600 13,700,000 -1,489,600 AHSH 2l 8,721,403 9,753,000 1,031,597
ora= o= 27,626,894 35,247,596 7,620,702 T &2 & I A& Hl 0 16,800,000 16,800,000
&gl &gl 31,452 31,900 448 At Hl 24l 37,177,290 32,623,644 -4,553,646
At H w=Hl 7,953,710 18,864,000 10,910,290
At H Ar& I 11,175,737 900,000 -10,275,737
Glglgl & JIEH | OiIHl 2 J1Ef 28,135,306 22,371,852 -5,763,454
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DD _ _ IR 3 W30,000 « 128
2223 1,966,043 1,060,000 906,043 | -46.08% |43 /mt o niae
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W|L190i0(|30|* 128 o
S A& 22l Hl W30,000 « 122 = W360,000
JlEr2 gl 1,523,020 2,940,000 1,416,980 | 93.04% | X5 /o012 2 & 6] W60.000 «128 = W720.00
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£ & 1 A W100,000 + 23 =wW200,000
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XN S (HUZAH HLI/8.34%)
AHRHI e a =] g8z L NS 11,225,436 11,212,610 -12,826 —.11% | -#2,553,153 * 42 (2I) + #1,000,000( & %
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23 AlH W100,000 128
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2021.E£g§ma§%§30|xr_é W1,820
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oldiHl 2 |odlH ¥ F 7,030 5,852 —1,178 | —16.76% | 5007 2 X3 (2 9)0I R BHE : W1,632
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